
INSTRUCTION MANUAL

MOBILE COOLER CART

Thank you for choosing BLACK+DECKER! 
PLEASE READ BEFORE RETURNING THIS PRODUCT FOR 
ANY REASON.
If you have a question or experience a problem with your BLACK+DECKER 
purchase, go to www.blackanddecker.com/instantanswers  
If you can’t find the answer or do not have access to the Internet, call 
844-299-0879 from 10:30 a.m. to 6:30 p.m. EST Mon. - Fri. to speak with an 
agent. Please have the catalog number available when you call.

SAVE THIS MANUAL FOR FUTURE REFERENCE.

CATALOG NUMBER 
BCC20W



Page 2

Thank you for purchasing our  
BLACK+DECKER product. This 
easy-to-use manual will guide you 
in getting the best use of your 
mobile cooler cart.
 
Remember to record the model and 
serial numbers. They are on a label 
on the rear.

Staple your receipt to your manual. You will need it to obtain warranty service.

Model number

Serial number

Date of purchase

PRODUCT REGISTRATION

CONTENTS

SAFETY INFORMATION 
Important Safety Instructions .............................................................................................................................................. 2

SET UP & USE 
Parts List ........................................................................................................................................................................................3 

Assembly Instructions ...........................................................................................................................................4

CLEANING & CARE ................................................................................................................................................5

TROUBLE SHOOTING & WARRANTY 
Customer Service .................................................................................................................................................... 5 
Limited Warranty .....................................................................................................................................................................6

SAFETY INFORMATION

IMPORTANT SAFETY INSTRUCTIONS
1. READ ALL INSTRUCTIONS BEFORE USE

SAVE THESE INSTRUCTIONS
HOUSEHOLD USE ONLY



Page 3

SET UP & USE

PARTS LIST
Tools Required: Adjustable Wrench and Screwdriver

ID DESCRIPTION QUANTITY

A Cooler Lid 1

B Cooler Body 1

C Legs 4

D Bottom Tray 1

E Caster Wheels with Locks 2

F Caster Wheels 2

G Bottle Cap Collector 1

H Bottle Opener 1

I M5 x 12 Bolts 18

J M4 x 16 bolts 12

K Lid Handles 2

L Pull Handle 2

M Drain Cap 1

N Drain Extension Tube 1

A

K

H

B

G

F

D

L

C

E

M
N

J
I



Page 4Page 4

SET UP & USE

ASSEMBLY INSTRUCTIONS

We suggest you assemble the unit on a soft surface to avoid damage to the finish.

1.  Place the Cooler Body (B) upside down, so the bottom is facing up.

2.  Attach the Leg Assemblies (C) by lining up the holes in the leg assemblies (C) 
and securing with M5x12 Bolts (I), (4) four should be used for each of the Leg 
Assemblies (C).

3.  Next attach the Bottom Tray (D) to the Leg Assemblies (C) by lining up the thru 
holes in the Bottom Tray (D) with the threaded holes in the Leg Assemblies 

4.  Thread the (2) two Caster Wheels with Locks (E) into the threaded holes on the 
left side of the Leg and Tray Assembly.  Make sure both of the Casters have locks 
on them.  Secure them using an adjustable wrench.  Do not over tighten as the 
threads may strip.

5.  Repeat Step 4 with the remaining Caster Wheels (F) for the right side of the Leg 
and Tray Assembly.

6.  Carefully turn the Cooler Cart onto its wheels.  Lock the Casters by pressing down 
on the lock pedal until it clicks into the locked position.

7.  Attach the Bottle Cap Collector (G) by slipping the tabs into the slots on the 
Cooler Body and then push down, it will click into position.

8.  Secure the Bottle Opener (H) using (2) Two M5 x 12 Bolts (I).  Do not over tighten 
as the threads may strip.

9.  Attach the Pull Handle (L) using (12) Twelve M4x16 Bolts (J).  Do not over tighten 
as the threads may strip.

10.  Attach the first Lid Handle (K) to the Cooler Lid using M4 x 16 bolts.  Repeat for 
remaining Lid Handle.  Do not over tighten as the threads may strip. 

11.  Place the assembled lid into position on the Cooler Body and press down to seal 
the Cooler.  There should be a snug fit.

12.  When using the Cooler Cart remember to have the Drain Extension Tube 
tightened onto the drain spout then tighten the Drain Cap onto the threaded 
end of the Drain Extension Tube to keep water run off from the melting ice from 
leaking out.  When finished using the Cooler Cart remove the Drain Cap from the 
Drain Extension Tube so the water from the melted ice can easily drain.



Page 5

CLEANING AND MAINTENANCE
When cleaning your mobile cooler cart use non-abrasive tools like soft clothes and 
plastic scouring pads. Use water or non-chemical cleaner to clean the interior.

Page 5

SET UP & USE

TROUBLESHOOTING & WARRANTY

IMPORTANT
DO NOT RETURN THIS PRODUCT TO THE STORE
If you have a problem with this product, please contact the  
W Appliance Co. Customer Satisfaction Center at  
844-299-0879 or service@appliance.com.

DATED PROOF OF PURCHASE, MODEL # AND SERIAL # 
REQUIRED FOR WARRANTY SERVICE



Page 6Page 6

TROUBLESHOOTING & WARRANTY

LIMITED WARRANTY
Any repair, replacement, or warranty service, 
and all questions about this product should be 
directed to W Appliance Co. at 844-299-0879 
from the USA or Puerto Rico.

W Appliance Co. warrants to the original purchaser 
that the product will be free from defects in material, 
parts and workmanship for the period designated for 
this product. The warranty commences the day the 
product is purchased and covers up to a period of 1 
year (12 months) for labor/1 year (12 months) for parts 
(manufacturing defects only).
W Appliance Co. agrees that it will, at its option, 
replace the defective product with either a new 
or remanufactured unit equivalent to your original 
purchase during the warranty period. 

Exclusions: This warranty does not apply to the 
below:
1.  If the appearance or exterior of 

the product has been damaged or 
defaced, altered or modified in design or 
construction. 

2. If the product original serial number 
has been altered or removed or cannot
be readily determined.

3. If damage is due to general misuse, 
accidents or acts of God.

4. If repair attempts are done by 
unauthorized service agents, use of 
parts other than genuine parts or parts 
obtained from persons other than 
authorized service companies. 

5. On units that have been transferred 
from the original owner.

6. On products that have been purchased 
as refurbished, like new, second-hand, in 
a “As-Is” or “Final Sale” terms.

7. To products used in a commercial or 
rental setting.

8. To products used in settings other than 
ordinary household use or used other 
than in accordance with the provided 
instructions.  

9. To damages for service calls for 
improper installations.

10. Transportation and shipping costs 
associated with the replacement of the 
unit.

11. Service calls to instruct you how to use 
your product.

REPAIR OR REPLACEMENT AS PROVIDED UNDER 
THIS WARRANTY IS THE EXCLUSIVE REMEDY OF 
THE CUSTOMER; W Appliance Co. SHALL NOT BE 
LIABLE FOR ANY INCIDENTAL OR CONSEQUENTIAL 
DAMAGES FOR BREACH OF ANY EXPRESS OR 
IMPLIED WARRANTY ON THIS PRODUCT, EXCEPT 
TO THE EXTENT PROHIBITED BY APPLICABLE LAW. 
ANY IMPLIED WARRANTY OF MERCHANTABILITY 
OF FITNESS FOR A PARTICULAR PURPOSE ON THIS 
PRODUCT IS LIMITED TO THE DURATION OF THE 
WARRANTY.

Some states do not allow the exclusion or limitations 
of incidental or consequential damages, or limitations 
on how long the warranty lasts. In these cases the 
above exclusions or limitations may not apply to you. 
This warranty gives you specific legal rights and you 
may also have other rights which vary from state to 
state.

Obtaining Service: To obtain service, product 
literature, supplies or accessories please call
844-299-0879 to create a ticket for exchange/repair. 
Please make sure to provide the date of purchase, 
model number and a brief description of the problem. 
Our customer service representative
will contact you or send detailed return instructions.

W Appliance Co. does not warrant that the appliance will work 
properly in all environmental conditions, and makes no warranty 
and representation, either implied or expressed, with respect 
to the quality, performance, merchantability, or fitness for a 
particular purpose other than the purpose identified within this 
user’s manual. W Appliance Co. has made every effort to ensure 
that this user’s manual is accurate and disclaims liability for any 
inaccuracies or omissions that may have occurred. Information in 
this user’s manual is subject to change without notice and does 
not represent a commitment on the part of W Appliance Co.. W 
Appliance Co. reserves the right to make improvements to this 
user’s manual and/or to the products described in this user’s 
manual at any time without notice. If you find information in this 
manual that is incorrect, misleading, or incomplete, please contact 
us at 844-299-0879.

W Appliance Co. 
1356 Broadway
New York, NY 10018



Page 7Page 7



BLACK & DECKER, BLACK+DECKER, the BLACK & DECKER and 
BLACK+DECKER logos  and product names and the orange and black color 
scheme are trademarks of The Black & Decker Corporation, used under license. 
All rights reserved.

Product in this box may differ slightly from that pictured. Does not affect 
function. Not all accessories shown in photography are included in this 
package. 

Imported by W Appliance, Inc., 1356 Broadway, New York, NY 10018

April 2017 Printed in China


